379 Thornall St, Edison, NJ, 08837



Pay Period	03 of 26					TA	TA
Employee Details							
Employee Name	Mr Ajinkya	a Shekh	ar Salvi				
Residence Address	315 S Peo	oria St; l	Jnit 909-A;, Chi	cago, IL, 60607			
Employee Number	2080881			Federal Filing	Status	Single	
Pay Date	02/02/202	4		Federal Allowa	nces		
Period Beginning	01/13/202	4		Federal Additic	onal Withholding		
Period Ending	01/26/202	4		Federal Standar	rd Withholding Table	÷	
Earnings	Rate	Hours	This Period	Year To Date	Deductions	This Perio	d Year To Date
Regular Salary	40.22	72	2,895.16	8,685.48	Statutory		
Holiday	40.22	8	321.76	965.28	Federal Tax	375.9	93 1,127.79
					IL State Tax	155.1	19 465.57
					Voluntary		-
					Medical Insurance	81.	77 245.31

Total Earnings (A)	\$3,216.92	\$9,650.76	Total Deductions (B)	\$612.89	\$1,838.67
Net Payment (A-B)	\$2,604.03	\$7,812.09			



Other Benefit And Information	This Period	Year to Date
GTL	1.02	3.06

Additional Tax Withholding Information	
State	IL
Marital Status	Single
Additional Withholding	0.00

Deposited To The Account Of	Account Number	Amount
Mr Ajinkya Shekhar Salvi	XXXX7665	\$2,604.03

For further assistance, you can log a ticket in Ultimatix > <u>TCS Global Helpdesk</u> > Catalogue Name: Ultimatix Services > Catalogue Item Name: USA Payroll so that we can assist you accordingly. Alternatively, you can also connect with the USA HR Helpline at 1-866-502-2494 between 10 am to 7:30 pm EST.

379 Thornall St, Edison, NJ, 08837



Employee Details     Employee Name   Mr Ajinkya Shekhar Salvi     Residence Address   315 S Peoria St; Unit 909-A;, Chicago, IL, 60607     Employee Number   2080881   Federal Filing Status   Single     Pay Date   02/16/2024   Federal Allowances   Single     Period Beginning   01/27/2024   Federal Additional Withholding   This Period Period Ending   Deductions   This Period     Earnings   Rate   Hours   This Period   Year To Date   Deductions   This Period     Holiday   40.22   80   3,216.92   11,902.4   Federal Tax   3     U   Voluntary   Output   Voluntary   Iterational Witholding   Iterational Witholding   Iterational Witholding		
Employee Name   Mr Ajinkya Shekhar Salvi     Residence Address   315 S Peoria St; Unit 909-A;, Chicago, IL, 60607     Employee Number   2080881   Federal Filing Status   Single     Pay Date   02/16/2024   Federal Allowances   Image: Composition of the state of		<b>_</b>
Residence Address   315 S Peoria St; Unit 909-A;, Chicago, IL, 60607     Employee Number   2080881   Federal Filing Status   Single     Pay Date   02/16/2024   Federal Allowances   Image: Status   Single     Pay Date   02/16/2024   Federal Allowances   Image: Status   Single     Period Beginning   01/27/2024   Federal Additional Withholding   Image: Status   Status   This Period   Year To Date   Deductions   This Period   Statutory     Period Salary   40.22   80   3,216.92   11,902.4   Statutory   Federal Tax   31     Holiday   Image: Status   Statutory   Statutory   Statutory   Status   Statutory     Voluntary   Image: Status   Status   Status   Status   Status   Status		
Employee Number   2080881   Federal Filing Status   Single     Pay Date   02/16/2024   Federal Allowances   Image: Status   Single     Period Beginning   01/27/2024   Federal Additional Withholding   Image: Status   Image: Status   Single     Period Ending   02/09/2024   Federal Additional Withholding Table   Image: Status   Image: Status <t< td=""><td></td><td></td></t<>		
Pay Date   02/16/2024   Federal Allowances     Period Beginning   01/27/2024   Federal Additional Withholding     Period Ending   02/09/2024   Federal Standard Withholding Table     Earnings   Rate   Hours   This Period   Year To Date   Deductions   This Period     Regular Salary   40.22   80   3,216.92   11,902.4   Statutory     Holiday   965.28   Federal Tax   3   3     U   Voluntary   1   1		
Period Beginning   01/27/2024   Federal Additional Withholding     Period Ending   02/09/2024   Federal Standard Withholding Table     Earnings   Rate   Hours   This Period   Year To Date   Deductions   This Period     Regular Salary   40.22   80   3,216.92   11,902.4   Statutory     Holiday   965.28   Federal Tax   3   3     IL State Tax   1   1   1		
Period Ending 02/09/2024 Federal Standard Withholding Table   Earnings Rate Hours This Period Year To Date Deductions This Period   Regular Salary 40.22 80 3,216.92 11,902.4 Statutory   Holiday 965.28 Federal Tax 3   Understand Voluntary		
Earnings   Rate   Hours   This Period   Year To Date   Deductions   This Period     Regular Salary   40.22   80   3,216.92   11,902.4   Statutory     Holiday   965.28   Federal Tax   33     IL State Tax   11     Voluntary   11		
Regular Salary   40.22   80   3,216.92   11,902.4   Statutory     Holiday   965.28   Federal Tax   3     IL State Tax   1     Voluntary   1		
Holiday 965.28 Federal Tax 3 IL State Tax 1 Voluntary	eriod Ye	ear To Date
IL State Tax 1 Voluntary		
Voluntary	75.93	1,503.72
	55.19	620.76
Medical Insurance		
	81.77	327.08

Ī	Fotal Earnings (A)	\$3,216.92	\$12,867.68	Total Deductions (B)	\$612.89	\$2,451.56
1	Net Payment (A-B)	\$2,604.03	\$10,416.12			



Other Benefit And Information	This Period	Year to Date
GTL	1.02	4.08

Additional Tax Withholding Information	
State	IL
Marital Status	Single
Additional Withholding	0.00

Deposited To The Account Of	Account Number	Amount
Mr Ajinkya Shekhar Salvi	XXXX7665	\$2,604.03

For further assistance, you can log a ticket in Ultimatix > <u>TCS Global Helpdesk</u> > Catalogue Name: Ultimatix Services > Catalogue Item Name: USA Payroll so that we can assist you accordingly. Alternatively, you can also connect with the USA HR Helpline at 1-866-502-2494 between 10 am to 7:30 pm EST.

379 Thornall St, Edison, NJ, 08837



05 of 26

Employee Details								
Employee Name	Mr Ajinky	/a Shekh	ar Salvi					
Residence Address	315 S Pe	eoria St; I	Unit 909-A;, Chi	cago, IL, 60607				
Employee Number	2080881			Federal Filing S	Status	Sing	gle	
Pay Date	03/01/20	24		Federal Allowa	nces			
Period Beginning	02/10/20	24		Federal Additic	onal Withholding			
Period Ending	02/23/20	24		Federal Standar	d Withholding Table			
Earnings	Rate	Hours	This Period	Year To Date	Deductions		This Period	Year To Date
Regular Salary	40.22	72	2,895.16	14,797.56	Statutory			
Vacation Day	40.22	8	321.76	321.76	Federal Tax		375.93	1,879.65
Holiday				965.28	IL State Tax		155.19	775.95

Voluntary		
Medical Insurance	81.77	408.85

Total Earnings (A)	\$3,216.92	\$16,084.6	Total Deductions (B)	\$612.89	\$3,064.45
Net Payment (A-B)	\$2,604.03	\$13,020.15			



Other Benefit And Information	This Period	Year to Date
GTL	1.02	5.1

Additional Tax Withholding Information				
State	IL			
Marital Status	Single			
Additional Withholding	0.00			

Deposited To The Account Of	Account Number	Amount
Mr Ajinkya Shekhar Salvi	XXXX7665	\$2,604.03

For further assistance, you can log a ticket in Ultimatix > <u>TCS Global Helpdesk</u> > Catalogue Name: Ultimatix Services > Catalogue Item Name: USA Payroll so that we can assist you accordingly. Alternatively, you can also connect with the USA HR Helpline at 1-866-502-2494 between 10 am to 7:30 pm EST.

379 Thornall St, Edison, NJ, 08837





Pay Period	06 of 26						ΤΛΤ	
Employee Details								
Employee Name	Mr Ajinky	va Shekh	nar Salvi					
Residence Address	315 S Pe	oria St;	Unit 909-A;, Chi	cago, IL, 60607				
Employee Number	2080881	2080881 Federal Filing S		Status	Sing	gle		
Pay Date	03/15/20	03/15/2024 Federal Allowa		nces				
Period Beginning	02/24/20	02/24/2024 Federal Additional Withholding		onal Withholding				
Period Ending	03/08/20	24		Federal Standar	d Withholding Table			
Earnings	Rate	Hours	This Period	Year To Date	Deductions		This Period	Year To Date
Regular Salary	40.22	80	3,216.92	18,014.48	Statutory			
Vacation Day				321.76	Federal Tax		375.93	2,255.58
Holiday				965.28	IL State Tax		155.19	931.14

Voluntary		
Medical Insurance	81.77	490.62

Total Earnings (A)	\$3,216.92	\$19,301.52	Total Deductions (B)	\$612.89	\$3,677.34
Net Payment (A-B)	\$2,604.03	\$15,624.18		· ·	

Other Benefit And Information	This Period	Year to Date
GTL	1.02	6.12

Additional Tax Withholding Information				
State	IL			
Marital Status	Single			
Additional Withholding	0.00			

Deposited To The Account Of	Account Number	Amount
Mr Ajinkya Shekhar Salvi	XXXX7665	\$2,604.03

For further assistance, you can log a ticket in Ultimatix > <u>TCS Global Helpdesk</u> > Catalogue Name: Ultimatix Services > Catalogue Item Name: USA Payroll so that we can assist you accordingly. Alternatively, you can also connect with the USA HR Helpline at 1-866-502-2494 between 10 am to 7:30 pm EST.

379 Thornall St, Edison, NJ, 08837



01 of 26



Employee Details							
Employee Name	Mr Ajinky	/a Shekh	ar Salvi				
Residence Address	315 S Pe	eoria St;	Unit 909-A;, Chi	cago, IL, 60607			
Employee Number	2080881	30881 Federal Filing Status Single					
Pay Date	01/05/20	Federal Allowances		nces			
Period Beginning	12/16/20	12/16/2023 Federal Additional Withholding					
Period Ending	12/29/20	23		Federal Standar	rd Withholding Table		
Earnings	Rate	Hours	This Period	Year To Date	Deductions	This Period	Year To Date
Regular Salary	40.22	72	2,895.16	2,895.16	Statutory		
Holiday	40.22	8	321.76	321.76	Federal Tax	375.93	375.93
					IL State Tax	155.19	155.19

Voluntary						
Medical Insurance	81.77	81.77				

Total Earnings (A)	\$3,216.92	\$3,216.92	Total Deductions (B)	\$612.89	\$612.89
Net Payment (A-B)	\$2,604.03	\$2,604.03			

Other Benefit And Information	This Period	Year to Date
GTL	1.02	1.02

Additional Tax Withholding Information				
State	IL			
Marital Status	Single			
Additional Withholding	0.00			

Deposited To The Account Of	Account Number	Amount
Mr Ajinkya Shekhar Salvi	XXXX7665	\$2,604.03

For further assistance, you can log a ticket in Ultimatix > <u>TCS Global Helpdesk</u> > Catalogue Name: Ultimatix Services > Catalogue Item Name: USA Payroll so that we can assist you accordingly. Alternatively, you can also connect with the USA HR Helpline at 1-866-502-2494 between 10 am to 7:30 pm EST.

379 Thornall St, Edison, NJ, 08837



02 of 26



Employee Details								
Employee Name	Mr Ajinky	Mr Ajinkya Shekhar Salvi						
Residence Address	315 S Pe	eoria St;	Unit 909-A;, Chi	cago, IL, 60607				
Employee Number	2080881	2080881 Federal Fil		Federal Filing	Filing Status		Single	
Pay Date	01/19/20	24		Federal Allowances				
Period Beginning	12/30/20	23		Federal Additional Withholding				
Period Ending	01/12/20	2/2024 Federal Standard With		d Withholding Table				
Earnings	Rate	Hours	This Period	Year To Date	Deductions		This Period	Year To Date
Regular Salary	40.22	72	2,895.16	5,790.32	Statutory			
Holiday	40.22	8	321.76	643.52	Federal Tax		375.93	751.86
					IL State Tax		155.19	310.38
					Voluntary			
					Medical Insurance		81.77	163.54

Total Earnings (A)	\$3,216.92	\$6,433.84	Total Deductions (B)	\$612.89	\$1,225.78
Net Payment (A-B)	\$2,604.03			· · · · · · · · · · · · · · · · · · ·	

Other Benefit And Information	This Period	Year to Date
GTL	1.02	2.04

Additional Tax Withholding Information				
State	IL			
Marital Status	Single			
Additional Withholding	0.00			

Deposited To The Account Of	Account Number	Amount
Mr Ajinkya Shekhar Salvi	XXXX7665	\$2,604.03

For further assistance, you can log a ticket in Ultimatix > <u>TCS Global Helpdesk</u> > Catalogue Name: Ultimatix Services > Catalogue Item Name: USA Payroll so that we can assist you accordingly. Alternatively, you can also connect with the USA HR Helpline at 1-866-502-2494 between 10 am to 7:30 pm EST.